S M A
2008 = =0l & L BHS| |
CHol: M 2 A S (Er2): ®2l)
SH-BH-SA(BH) - MBAL - B 0f) &+ o Shitr HDS2

NI23| A 260, 680, 202 226, 186, 058 34, 494, 144

HNFHy &S 206, 895, 037 174,656, 008 32, 239, 029

HETNPHAIH LS 510, 600 174, 400 336, 200

Al 2 273,700 98, 400 175, 300

201 LBH=EH| 38, 600 31,000 7,600

01 At=2teldl 38, 600 31, 000 7,600
OXlgHae A3 29 3,600
ONEsSgdcIZz 18 28 22,000
OMZEZd ull 7 & ol 10, 000
OLHEHE HARES 28 3,000

202 o4l 31, 500 24, 200 7,300

01 =LUH0dHI 31,500 24, 200 7,300
ONEgR= 31, 500

203 B F =& 3,600 3,600 0

03 AIMFAY =N 3,600 3,600 0
ONEgRFa 3,600

308 AHXIHHMSOIH 200, 000 39, 600 160, 400

01 MAEHBdEES 200, 000 39, 600 160, 400
ONESEEI 2=Al2 A& 200, 000

A del 236, 900 26, 000 210,900

201 LBH= S| 19, 400 14, 000 5, 400

01 AtR2teld| 19, 400 14, 000 5,400
OXgAH 23 a2 ?33 2,400
ONgM 2= HMH 17,000

202 O4H| 17,500 12, 000 5,500

01 =LHOdHI 17,500 12, 000 5, 500
ONHHME NS 17,500

303 Zat= 100, 000 0 100, 000

01 Za=s 100, 000 0 100, 000
OXNLAH M H-12ad 100, 000

308 XXM SOIE 100, 000 0 100, 000

01 AXEHIdExS 100, 000 0 100, 000




SAM 22 H
I A

el S AA

SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2

OXNYA XNgH H+=EHI AT AAS = 100, 000

S F a2 1,376, 739 1,098, 023 278,716

=SS MA22] 1,376, 739 1,098, 023 278,716

201 2et2gH| 201, 235 175, 600 25, 635

01 AtSR2teldl 201, 235 175, 600 25,635
O=&t| = 5,000
OERMat 2e|AH= & XEeIM = 2,000
OMoiE3b(2Ea) = 91, 373
Ot &= H 3l = 73, 862
OS8Jl==g = 4,000
Otz M2o(HdEdEsRE) 4 A3 = 5, 000
OZFMdTE =2 8, 333, 000& *1. 2x23| = 20, 000

202 04| 18, 000 13, 000 5,000

01 =LHMbI 18, 000 13, 000 5, 000
O=ZsMer2e] ¢yl = 18, 000

207 A4 4,500 0 4,500

02 AR 4,500 0 4,500
OEXNFE2CAAE | = 4,500

308 AR HHMSOIH 1,153, 004 909, 423 243, 581

01 RXSMBIAEEZ 1,153, 004 909, 423 243, 581
O3FMet AEHEAL = = 100, 000

O=FM&tii2 A&z M2

1,316, 254, 000& 0.8 = 1, 053, 004

A 2o 2l 1,416, 248 1, 339, 836 76, 412

LS=3 WA 396, 760 389, 920 6, 840

201 2er2g| 95, 320 0 95, 320

01 AtSR2teldl 95, 320 0 95, 320
O=2g28 HIIHE ==& 1,500, 000& *32| = 4,500
O22s8 d¥EI} == 250, 000& *2J| &*33| = 1,500
OHAYMoRRAZ 22 100, 000& 12 *63| = 7,200
Oo@BlOIgsxE(ZTEE 20, 000& 20021 = 4,000




Col ol SEAo Bl (Etol: &2
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OFONQICH MaE 2zl
5, 00021, 022+ 12& = 61, 320
OtZxdstz+g 2 X 1,400, 000& x12&8 = 16, 800
405 KHaE SH| 301, 440 389, 920 A 88, 480
01 TaL=SFHSHI 301, 440 389, 920 A 88, 480
O - 3, 000, 000 =10CH 30, 000
OMa & oI Rt7¢ 71,700
OF] =1t 120, 0002 *1002t 12, 000
OdIoIM ZelH 1, 050, 000& *50CH 52, 500
Q&= AL 4, 466, 000 * 1504 66, 990
OL&HIE & &J17Y 1, 000, 000& x50 50, 000
OZMAIED| 730, 000& »25CH 18, 250
SIME S oM 610, 000 610, 000 0
201 Ler2g| 610, 000 610, 000 0
01 AtSR2teldl 610, 000 610, 000 0
O3IgME S MY 610, 000
Z2HA 2 AN X dx=2d 172,832 160, 000 12,832
201 et | 172,832 160, 000 12,832
01 AtR2teldl 172,832 160, 000 12, 832
O#MMIIA X Xtz 5,000
OE2HA Xtz 167, 832
-A 2| 90, 720
-AILHA 77,112
S A ¥ 23XHE 2l 236, 656 179,916 56, 740
01 Et2FH| 204, 656 179,916 24,740
01 AtR2teldl 204, 656 179,916 24, 740
0Nz Sz ¥ =X 17,280
OXtS XA 7,920
OlsiEE = 10, 896
OtZINEREZ 1,080
OXt&E& el 156, 480
OZ &l 11, 000




Col ol SEAo Bl (Etol: &2
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
202 044l 16, 000 0 16, 000
01 =LHHYI 16, 000 0 16, 000
OHY & X HRFH = 16, 000
405 KHaE SH| 16, 000 0 16, 000
01 TaL=SFHSHI 16, 000 0 16, 000
OX&UH = 16, 000
SHHE 2 84, 400 0 84, 400
Zo 2 THEAZ &Y 84, 400 0 84, 400
201 LEt2FH| 69, 400 0 69, 400
01 AtR2teldl 69, 400 0 69, 400
OMREA B0 M = 8, 000
OMZNZE Z&tA 21 = 10, 000
OZAEARE =< = 14, 400
OMRBELNAN 3H HAtdI = 25, 000
O=&t| = 12,000
202 04l 15, 000 0 15, 000
01 =LHMbI 15, 000 0 15, 000
OzlH ¥ SAR)| dRFd = 15, 000
Mol &35 203, 473, 050 172,014, 749 31, 458, 301
Mo+ HdESE et &It 43, 050 26, 138 16,912
201 et | 20, 150 9,738 10,412
01 At=22t2ldl 20, 150 9,738 10,412
O=gt| = 5, 000
Oxzdae & RATWMAE = 4, 000
O M= = 450
OZME(RA1DE) = 300
O&FAAUXZ = 900
OJIRSsEARE2 2F = 4,500
(OEPNRUE = 5, 000
202 04| 20, 000 16, 400 3, 600
01 =LHHYI 20, 000 16, 400 3, 600
OXNgMe=LHRFA = 20, 000




2 A: HI?.«EIR#IEP

B AANLHY A
SRl MU HE SIS (ct9: A<
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2

303 ZAa3 2,900 0 2,900

01 ZAMZ 2,900 0 2,900
OMe=ZHPLHUE AT AMYS = 2,900

dE2d83 & AU = 203, 430, 000 171,988, 611 31, 441, 389

308 XX HAMSOIA 203, 430, 000 171,988, 611 31, 441, 389

02 d+u23 18, 727, 500 15, 950, 000 2,777,500
(OFSESmES= 18, 727, 500

04 MEEHZ 184, 702, 500 156, 038, 611 28, 663, 889
OLEMHEENMZ 184, 702, 500

WJEXNE & HMBIAMES 34, 000 29, 000 5,000

Hol NSEA 24, 600 20, 000 4,600

201 et | 4,600 4,000 600

01 AtR2teldl 4,600 4,000 600
O=gt| 2,000
OXNSNBEAF RS 2 2,000
ONSRZAL HAA dE2AR3 600

202 04| 20, 000 16, 000 4,000

01 =LHHYI 20, 000 16, 000 4,000
ONSRZAL 2= 20, 000

HE =0t 9, 400 9, 000 400

201 LEt2Z| 6, 400 6, 000 400

01 At=22t2ldl 6, 400 6, 000 400
O=gt| 1,200
OAESS ANIILEEZH M XHOIA 5,200

202 48l 3,000 3, 000 0

01 =LHObI 3, 000 3, 000 0
¥ FECTSEESY 3,000

HHY2AHHI (MRS HDL) 50, 909, 165 48, 605, 250 2,303,915

S2AHI(MR23H 2 50, 889, 725 48, 585, 810 2,303,915

HA2AHI(=2H) 50, 889, 725 48, 585, 810 2,303,915

101 1244l 47, 566, 565 45, 369, 510 2,197,055

01 JlEg= 31,798, 487 30, 427,114 1,371,373




zgiéﬂggggﬂl(}dl—?—iﬂlﬂ”
E: ol AH| (M3 A D) (S MR
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2

O SH 24,760, 375
Og et 24, 760, 375
-H2A(13) = 87,210
-12(29) = 165, 323
-32(83%) = 568, 128
-4=(399) = 2,533,752
52 255(186%) = 6, 232, 860
6= 205(300%) = 8, 461, 080
[= 10,910]

== 8, 450, 170]

-2 175(256%) = 5,883, 495
[= 8,459]

== 5, 875, 036]

-82 135(43%) = 802, 535
KISl et A1) = 25,992
OJlsA 2,321,734
62 30=(69¥) = 182, 204
-2 255(14Y) = 366, 879
82 205(16%) = 349, 594
92 155(379) = 656, 410
-10= 12&(52%) = 766, 647
odz=+¢ = 1,977,308
[= 12, 631]

== 1,964, 677]

OX I & = 523, 070
Oxg(19) 32,735
—=Yd 25 = 29, 682
J2=< = 2,474
X S IH&HI 579,000 = 579
Og:EA 2,183,265
-3=(3%) = 213,048
-4=(8%) = 519, 744
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zgiéﬂggggﬂl(ﬁl—?—ilﬁlﬂf)
SR oIA S AHH| (NI 23 A D) (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OHMI23| Al 1t 737, 400
-NRES(24%) = 28, 800
= A27|(4Y) = 4,800
—Zel, HLIER = 7,800
- SIIME=INIQRE=)) = 55, 200
-2 & SHI(1,068H) = 640, 800
Jl2ZHI( M3 H 19, 440 19, 440 0
JI2ZBI(MR23 A ) 19, 440 19, 440 0
201 LEt2FH| 19, 440 19, 440 0
01 AtR2teldl 19, 440 19, 440 0
Oget=Z| = 19, 440
HWRES(MR3 H D) 2,876,000 2,924, 800 A48, 800
RSN 2,876,000 2,924, 800 A48, 800
KXy &be 2,876, 000 2,924,800 A48, 800
311 Xt =01 Atakst 556, 000 604, 800 A48, 800
04 SIS0 XHAE 556, 000 604, 800 A48, 800
O2l=FA(96 98 MSEXA2) = 556, 000
601 XL =HSaE 2, 320,000 2, 320, 000 0
04 ESYHIXASAS4E 2, 320,000 2, 320, 000 0
Ozdl=7A(96 98 MSA2) = 2, 320, 000
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